YEAR 7 — APPLICATION OF NUMBER
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: By the end of this unit you should be able to:

| Understand and use factors

| * Understand and use muttivkes

| *  Miltily/ Divide integers and decimais by powers
|

|

|

|

|

|

* Use formal methods to muttiply

+ Use formal methods to divide

* Understand and use order of operations
o Solve area problems

+ Solve problems using the mean

Quotient: the resutt of a diision

D
Divisor: the number we. divide by

Solving problems with mullipication and division

|
I Orray: an arrangement of ttems to represent concepts in rows or colmns
: : Muttiples: found by mutticlying any number by positive. integers
I Factor: integers that muttiply together to get another number
| 1 Miprefix meaning one thousandth

of 10 | | Centi: prefix mearing one. hundredth
| : Kilo: prefix meaning muttiply by 1000
i
|
|

vidend: the number being divided
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 Factors |I Mutivks | |1 Motiply/ Divide by powers
i Factors of 10 0x lor Ix10 | || 100s | 10s | 1 100s [ 10s | 1s

| 5¢a0r2x5 125 0 b , 1 1 ’..—.‘xm r;;;

I The number itseff is | [ Bar modeks can represent by something is a mutipke. Eg 20 is a muttiple of 4 I | U

I aays a factor |
| " |} Lowest Common Miipes | LMof qang 12 | ittt | 3 100 - 300
I multiks mateh I

addtion

L match the question 02 x 10 = 2
Estimations: Using estimations alows a 03x 10-3

‘check” if your answer s reasonable

Make adustments to your answer to
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Ol give the same solution as represent the same proportion
Muttiply the values in proportion until the dvisor becomes an integer

:[Sj,mre numpers have an ODD number of factors ] Be steas E 9,18 27,136 45, 54 LoM-36 ) |2 ' Lo .% oo st 2=
’ ’

| Factosof 4 Factors of 36 - Lay factors ot n I| R 12,2436/ 48 60 l - .
| 124 14346911836 Pascanfepwonotio ) o B 7 [ s | A
I_______________m“_w___'L_________*‘Z__i__s‘s___aé_ll 003 x 100 - 3
_____________________________________ ! Repeated muftiplcation and dvision by powers
| | Metric conversiors +10 <100 +1000 +1000 +1000 : of 10’5 commite
| Useful Conversions mm cm m km 9 IE@ ml L I| + [0then = 10— =+ 100
I %10  x100  x1000 oo 1000 I
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| memtlon me,thodg  Less effective method especialy I DIVISIOH methOdS Short division 51 2 Complex duision |
| P Ik for bigger muttipleation I - ged |
| Ftets] [* [wo]w I 3584 = 7-512 7 3°5 84 ' T
| . I Break p the dvsor usng |

| 119 factors
L " Mlploatonith decinds || Disonv o |
I - Grid method | Perform mutipications as integers The placeholder in division methods is essential — the. decimal ines up on the dividend and the quotient
| multpication 02505 —— 70 5 I |
| lom Foreded 9547 ' |1 24+ 00— 24+ 02 ——> 20+ |
I I
I [y I
I [y I
I [y I

Therefore 6 <+ 100 = 0.6

/4 x Base x Perpendcular height /\

Mean fObk’,mS Mean — a measure of dverdge |

t gues an idea of the central vabe

Lil, Gnrie. and Ezra have the following cubes
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Onnie

Eera (11111 total
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Finding the mean amourt s the dverage amount each
person would have if shared out equally

Lil Onnie Ezra

The mean number of blocks would be & each
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_______________ 1 |
| Order of operations | Orea problems
I Rectangle
Brack

| : Base x Perpendcular height
| |
: Muttiplcation or dussion | |

|
: Oddition or subtraction | 1! Paralelogram/ Rrombus
| > |
| ff you have muttivk: operations from the |
I same tier work from kft to right :
legi0-3+5 — 10-3 ——> 745 |
| | 1 Trange
: 6x 4+ 8x2 |

|
: 24+ 6 - 40 | | Otriangk s haff the size of the
| || rectangke it would fit in
L ____ )
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